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B.A. (Third Year) Examination, 2017
ECONOMICS
Paper — 1
(Quantitative Techniques in Economics)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(GUre-31)
Answer all questions (50 words each).
All questions carry equal marks.

S gt weR afEr 1 e T @ IW 50 = 9
stfus 9 BN T+t wedl & ofF wum &

PART-B [Marks : 50]
(Ev=-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

T R Y US-UF W 9 B, T U W S
TIF W FSW 250 VI A HfF A @
ft W B % wHH £
PART-C [Marks : 30]
(@ve-u)
Answer any two questions (300 words each),

All questions carry equal marks.
FIE A J9T FfoU TAF T HT IT 300 TR T

A 9 8 g ge & ofF uum
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PART-A
(gug-3AH)

UNIT-1
FHE-D)
1. (@)  Define the Secondary Data.
s wHal w WA
(i)  What is Statistics ?
ufest & € 2
UNIT-11
EHE-10)
(iiiy If standard deviation is 5.5 and mean is 107, then
find Coefficient of Vanation.

I wag faged 55 & wE w107 O,
faged 1w (C.V) W@ Wil

(iv) Give the formula to get Median from Continuous

Series.

T Sof ¥ e W@ AW w OgA Fad
UNIT-111
(FFE-110)

(v)  If correlation coefficient (r) is 0.6 and N = 16, then
find the Probable error.
R gE-wEY TE (1) 06 € W N=16 ¥ A
v faym §@ s

(vi) Find the correlation coefficient from following
regression equations :

frq A wdEol § WSy ONE W

Hifsg
x=-3+2y
y =8+ 8x
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UNIT-IV
@FFE-1V)

(vii) Define time series.
FA A F wRefEd wioQ)

(viii) If current year's price aggregate is 4,800 and base
price year's aggregate is 4,400, find the index
number.

Ifs adHA Yedl H g 4800 T T SR T &
el 1 S 4400 B @ YA GIFIH TA BT
UNIT-V

EFE-Y)

(ix) Define Interpolation.
FFayE H ftanfsa il
(x) What is Convenience Sampling ?
gfaw whremm @ 22 |
PART-B
(gus-¥)

UNIT-1

GFE-D

2. Make difference between primary and secondary data.
yufts wd sfaE gEEl B R S

3. Make a schedule to know the preferences of consumer in
buying decesion of Scooty.

T R B 7 B U9 SUEN % AfuEE 9 R
Th S S

3321/5790/555/136 3 [PTO.



UNIT-II

(FE-10)

4.  Find the Harmonic mean from following series :
e f ¥ o T TE wife

X 2 6 10 14 18

F 4 12 | 20 915

5. Calculate the mean deviation from median from following
series :

ke I 0 2 O O A s e B G
X1 )12 113} 14 15|16 171 18| 19|20
Fl1 12 1417 1011|817} 4]2]|1
UNIT-III
FE-II0)
6. Make difference between correlation and regression
analysis.

EHay T yAeE favemm d§ e Sifsw

7.  Estimate both the regression equation and find the marks
of a candidate in International Economics, marks in
Statistics is 16 :

Statistics (X) [2 { 6 | 8 11 |13 |13 | 14
International
Economics (Y)|8 | 6 { 10|12 [12 |14 | 20
T g giiee @ wifee T afersE § 16 o
Td G 9 Thenft ® g odvey d warw
ft @ *fET

ge (X) | 2| 6| 8 {11]13[13]14

AT

s (Y) | 8 | 6| 10 12] 121420
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UNIT-1V

(SFE-IV)

8.  Discuss on the importance of Index numbers.

gE&iH & Wew W faa=wa wif

9. Find the trend by the method of moving averages
assuming a five yearly cycle :

fr=r 9=l o doadh ww AEd gU ow Wi O |

Ifa I g
Year Index Numbers
(I9) (gEFTH)
1 52.7
2 79.2
3 76.3
4 66.0
5 68.6
6 98.8
7 104.7
8 87.2
9 79.3
10 103.6
11 97.3
12 924
13 100
UNIT-V
(FHE-V)

10. Explain the various types of random sampling.

IRfees dfowm &t fafim fafirsl Y =mem Fifew
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11. Interpolate the missing figure of the following table with
the help of a suitable formula :

% ITHE gI F TEEd ¥ FreAifea afes § swm
T H1 AFavH  HIWY

Year 2009 | 2010 | 2011 | 2012 | 2013 | 2014
Index Numbers | 320 300 ? 280 278 250

PART-C

(GUE-R)
UNIT-1
GFE-1)

12. Represent the following data by pie diagram :
Heads Expenditure
Agriculture 1068
Irrigation 650
Power 1012
Small Industries 264
Transportation 1486
Social Services 1500
Others 264

e gEwl # o faw g fregwm i o
e wH =T
Ffy 1068
LIS 650
EX | 1012
A | 264
EIGIRIG | 1486
grfsis  dard 1500
34 264

3321/5790/555/136 6



UNIT-11

(FrE-10)
13. Find the mode from following series, by grouping method :
Marks (less than) | 10 [ 20 | 30 [ 40 | 50 |60 | 70
No. of Students 2 1313316389 199 {100
e Wfa g0 7 geft o agas 9 ®ifg
F (4 FH) 10 | 20| 30| 40 | 50 | 60§ 70
forenfefal =Y e |2 | 13| 33| 63|89 99100
UNIT-III
FeE-110)
14. From the following data calculate the rank correlation
coefficient :
frm wHEl § @i FE-TEY R 9@ HINT
X122 12427 1350121 20}27 |25]27}23
Y |30 |38]40 [50 |38 )25 38 [36]41]32
UNIT-1V
FHE-1V)
15. From following data calculate Laspeyre's and Paasche's
index numbers :
2015 2016
Goods Price Quantity | Price Quantity
A 12 100 20 120
B 4 200 4 240
C 8 120 12 150
D 20 60 24 50
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= owl ¥ TR W W W gEEiE J| S

2015 2016

T FAa LIEL I qrEr

A 12 100 20 120

B 4 200 4 240

C 8 120 12 150

D 20 60 24 50
UNIT-V
(FHFE-V)

16. Given below are the figures of population of a district for
different years. Find the population for 2002 by Newton's

method :
Year 1990 [ 1995 | 2000 | 2005 | 2010
Population (lacs) | 7 9 6 14 16

™ e #t fafs asf ) wwen @ ® 4 ==
fafy g/ 2002 1 wwEm FE T .

Y 1990 1995 | 2000 | 2005 | 2010
sAgen | 7 9 6 14 16
(@ H)
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